LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

Ne ApTUKyN HavmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-s0
1 029030200307 KpbllwKa reHepaTopa CTOpPoOHa 1 7 511050615001 Bont M6x150 4
Asuratena

2 062024120005 Potop 1 8 029030500101 Konogka gns nposoaos 1
3 062024130001 CraTtop 1 9 029030300314 KpblwWwKa anbTepHaTopa 1
4 511080819501 LnnnbKa KpenieHus potopa 5/16x195 1 10 029030700200 LLleTKn KonnekTopHble 1
5 029030101300 3awmTa ctatopa 1 11 029030610201 bnok AVR 3KBT 1
6 029030400800 KpbiwKa reHepaTopa ctopoHa ABP 1 12




LaampPron

Power & force

MI'I}'HOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

e

Ne ApTUKyN HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-s0
1 019990012400 Kopnyc Bo3aywHoro ¢punbtpa 1 21 011010002000 Mpy*nMHa KnanaHa 2
KOMMNAEKT
2 7007101 Konbuo ynnotHUTenbHoe dbunbTpa 1 22 011010002100 Tapenka BepxHAA NPYXXUHbI KnanaHa 2
3 019990012500 Bo3ayLwHbIi dunbTp 1 23 011010002400 Cyxapb KnanaHa 2
4 512040600002 laiika M6 3 24 011010002300 Konnauek knanaHa 2
5 019990012300 MpoknagKa kopnyca ¢punbTpa 1 25 029049910300 MpoKknagKa raywuntens 1
6 019990008700 LUInMnbKa KpenneHus kopnyca ¢uabtpa 1 26 512040800001 lalika M8 2
7 511050602203 Bont M6x22 2 27 029043100001 Tnywwutens 1
8 011010004000 BnycKHoOM KonnekTop 1 28 011010500000 dopcyHKa 1
9 011010001600 MpoknagKa BNyCKHOro KoAneKTopa 1 29 019990008300 MnactuHa KpenaeHnsa GopcyHKU 1
10 011010000500 [aiKa KpenieHua ronosku (HM3Kas) 2 30 512030600002 laiika M6 2
11 513020800002 LWanba 2 31 011010700000 KpblwKa K1anaHOB KOMNJIEKT 1
12 | 011010000400 LWanba 2 32 511050605503 Bont M6x55 2
13 011010001700 lonoBKa uMnnMHapa 1 33 011010004900 MpoKNagKa KPbILWKKM KNanaHoB 1
14 011010001800 KnanaH BnyckHom 1 34 011010002200 bonT KpenneHua pokepa 1
15 011010001900 KnanaH BbInyckHoW 1 35 011010100000 Kopombicno knanaHoB KOMNAEKT 1
16 | 516030802003 LWnnnbka 8x20 2 36 516030605503 LWnnnbka M6x55 2
17 | 011010000400 LWanba 2 37 514010400800 LWrnT 4x8 1
18 011010000700 aiika KpenieHusa ronosku (BbicoKas) 2 38 011010004800 YNNOTHUTENbHOE KOJIbLLO GOPCYHKMU 1
19 019990012000 Tapenka HUKHAA NOA, NPYXKUHY 2 39 516030605003 LWnunbka M6x50 2
KnanaHa
20 522010101601 Konnayek macnocbemHblit 1 40




LaampPron

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

Power & force

oo

Neo ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 512040600002 lalika M6 3 19 523010100300 YNNOTHUTENbHOE KOMbLO 1
2 019990007600 MnactuHa kpennenuna THBA 1 20 521030100101 MoAWMWNHUK UronbYaTbil Bana pblyara 2
3 019990007500 MpoknagKa NnacTUHbI 1 21 019990011800 PerynnpoBouyHbIit 6onT 1
4 019990012900 TONAMBHBIN HACOC BbICOKOTO AaBeHUs 1 22 011010000100 Kaptep 1
5 011010004400 Tpy6bKa ToNAMBHaA BbICOKOTO AaBAeHUA 1 23 011010001100 BosayxoHanpasnAatoLwan naacTmHa 1
6 511050601203 Bont M6x12 1 24 511050602203 | BonT M6x22 1
7 511050602203 bont M6x22 1 25 019990010700 INeKTpUYECKUii cTapTep 1
8 019990011500 MaHenb pblyaros 1 26 019990000101 Perynatop 3apaaku AKb 1
9 019990011400 MpyKMHa pblyara BbIKIOYEHNA 1 27 019990000200 KpoHwWwTelH KpenneHusa perynatopa 1
10 019990012800 Mpy»KMHa pblyara BKAOYEHUSA 1 28 011010000300 LLInunbKa KpenseHma ronoBKM KOPOTKan 2
11 522010101301 CanbHuK Bana 8x14x4 1 29 011010000600 MpoKnagKa ronoBKM UMAMHAPA 1
12 011030006101 LWaib6a Bana 1 30 011010000800 LnunbKa KpenneHua ronoBKU AANHHAA 2
13 011030006101 LWaib6a Bana 1 31 011010000900 Mpoknagka Tonkatenemn 1
14 011010400000 Pbiuar ynpasnenua THB/, komnneKr 1 32 522010100801 CanbHUK CTOPOHA MaxoBMKa 34x45x8 1
15 019990007000 bonT oTBepcTMA ANA cAMBa macna 1 33 019990007400 Mpoknagka nog THBA 1
16 019990007100 LWaiba 2 34 019990007300 LWnunbKa kpenneHma THB/, anvHHas 2
17 029990000101 MaTtpyboK gns camea macna 1 35 019990007200 LnunbKa kpennenma THB/, KopoTKas 1
18 011010000200 KpbiLWKa-LLyn 3aAMBHOMN rop/IOBUHbI 1 36 011010001200 MpoKnagKa KpbIWwKKW KapTepa 1




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

Ne ApTUKyn HanmeHoBaHue K-Bo No ApTuKyn HanmeHoBaHue K-80
1 521010010901 MoAwnnHMK KoneHeana 6306 1 22 029990000201 [laTunk gasneHuns macna 1
2 011010003200 LLlecTepHa npuBoaa Bana banaHcupa 1 23 019990008200 3arnywka 8 3
3 519010100600 LinoHKa 5x5x12 2 24 523010100500 KonbLo ynnoTHUTENBHOE MaciAHOro 1
$unbTpa 25x2,4
4 519010100500 LLInoHKa 5x5x7 2 25 019990009000 DUNbTP MacnsAHbIN 1
5 011010003101 Konensan 1 26 511050601203 Bont M6x12 1
6 521010010601 MNoawunHuKk Bana 6anaHcmpa 6202 2 27 019990009100 Tpybka macnonogauun 1
7 011010002900 LLlecTepHa Bana 6anaHcmpa 1 28 011010001300 MoAwunnHKK KoneHsana (BKnagpiw) 1
8 011010002800 Ban 6anaHcupa 1 29 011010003000 LLlecTepHA KoneHBana NpuBoL, 1
pacnpepggana
9 514010801200 WtndT 8x12 2 30 019990008900 LieHTpo6exxHbil perynatop o6opoTtoB 1
10 011010001400 KpblwKa KapTepa 1 31 019990011100 TonkaTenb perynatopa 1
11 011010000200 KpbILwKa-Lyn 3aMBHOM rOpNOBUHbI 1 32 521010010501 MNoawunnHuk pacnpeasana 6205 1
12 523010100300 YNNOTHUTENbHOE KONbLO 1 33 011010003800 LlectepHa pacnpegBana 1
13 522010100701 CanbHMK KoneHsana 25x42x10 1 34 519010100700 LnoHka 5x5x14 1
14 | 513010800002 LWaiba 8 1 35 011010003900 Pacnpepgan 1
15 513020800002 Laib6a 8 1 36 521030100201 MoAWNNHUK pacnpeaBana UroNb4aTbin 1
16 511050803803 Bont M8x38 1 37 011010003700 Tapenka TonKkaTena KnanaHa 2
17 019990008800 KpbllWwKa macnoHacoca 1 38 011010003600 TonkaTtenb KnanaHa 2
18 | 511050600803 Bont M6x8 3 39 511050801203 Bont M8x12 1
19 523010100400 Konbuo ynnotHutensHoe 34,5x1,8 1 40 513010800002 LWanba 8 1
20 019990012600 MacnoHacoc KomnaekT 1 41 019990007700 MnactuHa PpuKcauumn nogWMNHUKA 1
KoneHsana
21 514010301600 WtndT 4x8 3x16 1 42




LaampPron

Power & force MNNoCTPMpPOBaHHbIN KaTasor 3anacHbIX YacTei Mogenb: DG2200E

4
Ne ApTUKyn HanmeHoBaHue K-Bo No ApTuKyn HanmeHoBaHue K-80
1 011010200000 KomnnekT nopwHesbix kKoney, 70mm 1 4 518041900000 Konbuo ctonopHoe nanbua 2
2 011010002500 MNopLeHb 70x63 mm 1 5 011010300000 LLlaTyH KomnaeKkt 1
3 011010002600 Manew nopwHsA 1 6 011010002700 Bkiaabiw watyHa (napa) 1




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

Ne ApTUKYN HaumeHoBaHMe K-Bo Ne ApTUKYN HaumeHoBaHMe K-80
1 011010600041 Craprep B c6ope 1 10 011020003400 laiKa KpenseHna MaxoBuKa 1
2 511050602203 Bont M6x22 4 11 011020003300 LWaiba 1
3 513040600002 Waiba 6 4 12 011010003400 MaxoBuK 1
4 019990010400 Btynka 10x10 4 13 011010003300 BeHel, maxoBuKa 1
5 019990010300 Konbuo ynnotHuTenbHoe 4 14 511050601803 Bont M6x18 3
6 011010004741 Koyx maxoBuka 1 15 511050601203 Bont M6x12 1
7 019990010200 YNNoTHEHMe KoXKyxa 1 16 019990010600 Ckoba KpenseHna NpoBoAOB 1
8 511050601203 Bont M6x12 4 17 515050601203 Bont M6x12 3
9 011010003500 CTakaH MaxoBuKa 1 18 019990010500 lFeHepaTop 3apaaku AKb 1




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopaenb: DG2200E

No ApTUKYN HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 511050602501 Bont M6x25 8 18 029019900200 LLinaHr TonausHbIN 7,5x300 1
2 513040600000 Laib6a 6 8 19 029990000903 Tpoc 6n0Ka oTkAtoveHnA THB/ 1
3 019990007800 Brynka 8 20 029990000502 KpoHwTeiH 1
4 019990008000 Mpoknagka pe3nHosas 8 21 029990000501 DNIeKTPOMArHUTHbIM 610K OTKAKOYEHMA 1
THBA,
5 512040600001 laitka M6 8 22 021010000100 Onopa aguratens 1
6 029060100108 KosKyx gBuratens sepxHui 1 23 029969900221 Mposopg, noakatouermsa AKB (KpacHblit) 1
7 029019901102 Kpblwka TonameHoro 6aka 1 24 029969900219 Mposog, noakntoueHuns AKB (YepHbiii) 1
8 029019900601 dunbTp BCTaBKa TON/IMBHOro 6aka 1 25 021010100001 Pama 1
9 029019930000 YKasaTenb ypoBHA TONANBA 1 26 029930000801 MpoBog 3a3emneHns 1
10 029010200105 Bak TonavBHbIN 1 27 029969910201 Mnowaaka kpenneHna AKb 1
11 029019900100 LUnaHr TonAunBHbIN 2 28 512020600002 lalika KpenneHua AKB 2
12 029019900401 XomyT wnaHra 2 29 029969900301 LWnnnbKa kKpenneHna AKb 2
13 011010004300 dUabTP TONAMUBHBIN 1 30 029960900701 MnactnHa kpennexnuna AKb 1
14 019990009500 MpoknagKa noa TonAnsHbIN GUNbTP 1 31 029910300401 Bubpowusonatop 4
15 029019920300 Mpoknagka noa onopy KpaHa 1 32 029029901102 3aMOK 3aXKMraHUsA C KNYamu 1
16 029019920400 Onopa TONAMBHOrO KpaHa 1 33 029025500060 MNMaHenb ynpasneHus 1
17 019990009400 KpaH TonnunsHbIi 1 34 [suratens 1




